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Practice Questions

Essay Questions

1. Compare and contrast the recent tests of the present-value models of the current account with earlier tests of the current account.  In your analysis, pay particular attention to the methodology followed by the two approaches.

2. A large body of empirical evidence supports the Feldstein-Horioka saving-investment puzzle. 

(i)
Explain what this puzzle consists of.

(ii)
Give five explanations for this puzzle. Using an overlapping-generation model, show that at least two of these explanations are consistent with optimizing agents and perfect capital mobility.

3. A strong prediction of the Dornbusch-type models is that the difference between domestic and foreign real interest rates is inversely related to the degree of home currency depreciation.

(i) Explain the assumptions that lead to this prediction.

(ii) Discuss the empirical evidence on this prediction and compare it to the one on nominal exchange rate models.

4. It is often argued that since the influential paper of Meese and Rogoff (1983), it is not possible to forecast the exchange rates with the existing exchange rate models. Discuss the findings in the literature.  In your analysis, distinguish between nominal and real exchange rates, and pay particular attention to how failure of real exchange rate estimation may be tied to problems of convergence to PPP. 
5. Economists unanimously agree that standard models are not useful to predict systematically short-run exchange rate movements and yet major economic disturbances affecting output, such as the Great Depression, can be explained with these models.  Explain this statement using a Dornbusch-type model, by showing that a monetary contraction can affect output, prices and exchange rates and lead to falling output and prices and increased exchange rate volatility.

6. It is sometimes argued that pegging the nominal interest rate is equivalent to a crawling peg for the exchange rate.  Using a simple Cagan-type monetary model of exchange rate, explain whether you agree with this statement or not.

7. The United States is currently experiencing a large current account deficit and a government budget deficit.  Policy makers are debating the benefits and costs of cutting down taxes.  How would this policy affect the current account deficit?  Compare the predictions of the two-period representative-consumer model with that of an overlapping-generation model.  Does empirical evidence support any of the results?     
8. Some economists argue that, with unchanged policies, most industrialized countries’  government budgets will be in large deficit early in the next century. The infinitely-lived representative agent model, however, predicts that we should not worry because of Ricardian Equivalence.  Discuss, comparing the predictions of this model with those of an overlapping-generation model.

9. In an economy where there is a failure of Ricardian equivalence, an expansion in government debt may increase national debt by more than one for one.  Is this true?  Explain why or why not. 
10. In the traditional static models of open economy, higher income Y is associated with a current account deficit as consumption of imported goods rises.  Empirical results support the view that the current account is countercyclical (i.e. it goes into deficit as the economy booms).  Early critics of the intertemporal approach to the current account argued that a major empirical flaw of the approach is its inability to yield countercyclical current accounts.  Do you agree with them?
11. High saving-investment correlations are evidence of the imperfect integration of international capital markets.  Discuss this statement referring to the empirical literature.
12. The United States is the largest debtor country in the world.  It thus has large foreign liabilities, and by the accounting identities, a large financial account surplus, investment income account deficit and trade account deficit.  Discuss. 

Analytical Questions

1. Suppose that there are two countries Home and Foreign where the representative consumers in each country have identical preferences over two periods: 
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with budget constraints:
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(1) Using home budget constraint, solve for the optimal consumption for home, given the interest rate r.

(2) Using this solution together with a similar solution for foreign country’s optimal current consumption, write down the world market clearing condition at period t=1 (world output = world consumption).  Solve for the equilibrium world interest rate.

(3) Suppose 
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(i) Find the equilibrium value of r, and the home current account at period 1.

(ii) What effect does 
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 have on the equilibrium world interest rate?

(iii) What is the home current account at time t?

(iv) When will home run a current account deficit in period 1?

2. Consider a one-good small endowment economy with negative net foreign assets. 

(ii) Derive the optimal current account and show that current account deteriorates with contemporaneous departures of government spending over its permanent level.  

(iii) Now assume that the country adopts a policy of running a trade balance surplus sufficient to repay a constant small fraction of interest due on its debt each period.  It continually rolls over the remaining interest by fresh borrowing.  That is, the country sets its date s trade balance 
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   (assuming I=0) according to the rule: 
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 where r is the exogenously given constant world real interest rate and 
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 <1.  (i) Using the CA identity, show that debt grows at a finite rate less than r. (ii)  Now go back to the present value of the TB, substitute in the rule above and show that the intertemporal budget condition is satisfied for any 
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>0.  

3. Assume a small open economy with the production technology given by:
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 preferences of the representative consumer by:
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and the budget constraint is:
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where r is the fixed world interest rate and is equal to the subjective time preference rate of home agents.

(i) Derive the expression that governs the optimal choice of capital.

(ii) Show the expression for the current account balance in period t.

(iii) By differentiating the function of part (ii), show the impact on the current account  in two different scenarios:

a. When 
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[image: image20.wmf]0

>

t

d

q

, 
[image: image21.wmf]0

0

>

=

+

k

,

d

k

t

q


b. When 
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4. Consider an infinite-horizon model of a representative agent problem for one-good small open economy, with exogenous endowment, investment and government spending.  

The consumer maximizes the utility
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Subject to the budget constraint 
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(i) 
Derive the first order conditions and solve for consumption and the current account as functions of current and future changes in net output (Y-I-G).

(ii)
What happens to consumption and the current account in the present period under the following scenario?  Give magnitudes and directions of changes.

a. A temporary fall in output endowment by 100 units of the good this period?

b. A permanent rise in government purchases by 100 units beginning this period?

c. A permanent fall in output by 100 units that is anticipated to begin next period?

5. Consider the following equation of the optimal current account.
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1. Derive and interpret this equation.

2. What are the difficulties associated with estimating this equation?

3. Explain the estimation methodology of the present-value models of the current account and why this is a better approach than the earlier models.  
6. Consider the following version of the Dornbusch model:
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where all variables except the interest rate are in logs, price is predetermined and foreign price is normalized to 1.

(i). Calculate the long-run values of e and p.

(ii). Consider a monetary contraction in the rest of the world (a rise in i*).  

a. What is the effect on 
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 and 
[image: image34.wmf]p

? Will this lead to long-run neutrality in the domestic economy?

b. Calculate the effect on   e (by plugging (1) into (2)).

c. Under which conditions will there be overshooting of the exchange rate over its long-run value?

(iii). Illustrate diagrammatically the effect on the exchange rate, output, and prices of a       contractionary monetary policy in the domestic economy

7. Consider a simple monetary model of exchange rate determination:

(1) 
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where all variables are expressed in logs except the interest rates.

(i)   Explain each equation.

(ii)  Calculate the long-run values of e and p.

(iii) What path of the money supply would be consistent with a fixed exchange rate? with crawling peg? Obstfeld and Rogoff p.554-6

(iv) Would fixing the nominal interest rate be equivalent to crawling peg of the exchange rate? O&R. p.556, footnote 44

Now consider the parallel foreign equation (1).    

(v) Calculate pt-pt* and show that 
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(vi) If governments cooperate in fixing their mutual exchange rate, their combined monetary authorities can never run out of foreign currency reserves.  Comment on this statement basing your answer on your previous finding.

8. Consider a stochastic, open-economy version of the Cagan model.  

(1)
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1. Explain each equation and the assumptions carefully

2. Calculate the long-run values of e and p.

3. By recursive substitution, solve the model for the equilibrium nominal exchange rate.

4. Show that an unanticipated monetary shock can lead to overshooting of the exchange rate if the money supply follows the process:
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 (From Obstfeld and Rogoff).

9. Consider the following discrete-time Dornbusch model with perfect foresight and interest-rate targeting:
(1)
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(2)

[image: image45.wmf]t

t

*

t

t

e

e

i

i

-

+

=

+

+

+

1

1

1


(3)
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where 
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 is a short-term monetary disturbance to the interest rate (
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1. Explain each equation and the assumptions carefully.  What can you say about the monetary policy?

2. Solve for the real exchange rate (
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).  For this:

(i) Solve for q as a function of inflation.

(ii) Express the model as a single equation in change in q.

(iii) Solve this difference equation in 
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3. What is the effect on 
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and the inflation rate of a monetary tightening (rise in 
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